
Suppose you have some object .

If it doesn't satisfy a property , by
how Mch does it fail ?
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If f. 112-3112 (additive is

%homomorphism, then it's

continuous i it's of the form

flock rsc for some
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generated by open sets

What it f satisfies
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for some carbide group 6 ?

Thy : Kauovei - Raben loool
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If f is Borel and ⊕ holds

then Have is a Borel horn . g.
Sit . f- 64 - slot c- G.

General idea : can any almost

hovuomomoptism be approximated by
a real homomorphism ?

- algebras , Roku algebras, groups
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because we can ha

descriptive set theory .
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• Classification of finite groups .

• every fink group is
"

coushnehl
"

from simple groups . ↑
Very had
problem, no

unified theory .

If 6 is finite group, we can

write

G = En D- Eu -, D- . .
. 7 E ,E Eo
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\ composition factors . 4=7%2
• 741≥ 741≥ I

• Sy I≥ Au #ZEKE % D- I

• 5517 As I≥ I C- not solvable
(think Galois

theory

G = Eel≥E0--1
with fibs
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So / Ez / =G.f-
either Ss

or 26 =# ✗ Is

Df Ez is an
,

extension of

EYE
, by El .

G-- ELIE , I≥ Eo =/

NAG ⇒ 6 is an ett. of

% by N .
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I → H E -4A → I

↑ ↑

injection Svjcebo -

imlikkerttl .

I → Ni's o -7 % → I
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◦ → It A
equivalentI ↳ 6 Ig exteriors .

You can have dish'd then E ,Eti .
exterior hill isom .

middle groups .

TÉ¥
can use coyotes :

C : AZ → It

• Clyst Cly,>4 wyie

• ( (751 tclxtg.tl
couthie.

= (64+11-4×+75) .



EACH SUCH C GIVES ME AN

EXTENSION OF A BY It .
And vice versa .

A coyote is a wbowloy it

Clxisl -464+241-21×+91 .

Leds at HZCA, HI
t exactly ginC- C

'

_- Chlxltybyl -74451
group ext of
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'
on Abd H .

Now look at Borel Wydra :

A. It are Polish spaces
separable , comp.

whole group op . is Borel , methane .

Leah at Bad coyotes :

C : A2 → It is Boel on a

mop .
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/④ =D if birth .
for n > 1 .

Main aynut of proof :
-

C is Biel
.

so it's nice on

some open
intern / I. ( Bair
category Knut


